V= ryff KTy

1) LIMIT SWITCH
ZIEEERWHY Two-(:lrcmt Double.Break! - HSF%EEI\I SF%EES
48] 3% ST Az Four-Circuit Double-Break SR42N - SR42S

NIPPGN GEAR CO. LTD.



S TEN A N DAL C I TR - X L L P

B &

FEATURES

(Patent Pending)

-4

rfE R wk s nabem. mm 75>
FENBIZHEINZY) Sy PR v FTT,

High reliability =~ Limit switch developed for ma-
chinery, equipment and plants of which high reliabili-

ty is required.

BEPE I8 L (s 24 & + 8 = 2 D ERiH)
HE AT M, BEICOC BRIy b 24
L 2 '7"(““3-0

High rigidity = The whole unit including the
inside switch and the operating mechanism is con-
structed with high rigidity.

REINIAFYTT 7y av i
T EAEHAEROKEN) 2y P 2L 9 FTF,
Snap action Limit switch of large making and

breaking capacity ensured by improved snap action
mechanism.

$c AN AV Ry AW v b S Rl =R |
THEELIMEL RVWIFMEMFTESL) I A
4 v FTT,

Selected material Positive action and long ser-

vige life can be expected from the selected material
and accurate machining.

TECHNICAL SPECIFICATIONS

T

0 ﬁﬁ*ﬁlﬁ ® Enclosure
Migd 7 I 2 ¥4 HR PMELTHEHE. B5LA. BEAE(C The Enclosure made of anticorrosion aluminium
5 oy ELAE > ? die casting is of oil-proof, dust-proof and water-

proof construction.

® Operating mechanism

The snap action ensures a quick-make and quick-
break of contacts.

e Contact

The butt type, self-wiping and silver contact has
large breaking capacity and high reliability.

The circuits are isolated.

® Lever

Extemal lever is adjustable by 7° 30' increments
thru 180°. Operating direction can be changed to
transfer the return spring to the opposite side of
the internal lever.

(Refer to Item @ “Type and size of lever”)

A X1 v FEXEHER
RFw T T o3 NIEETIEST HBEICHL->TUWET,

(3 %53
TAETE—S 3Dy b 71 THRIEBESEIERED
KE(HEELELRIIL £T, £-FERETEEL
Bt L TwWET,

(4] Lsy—
EszAEIERED ) § —> R T) > T H5EEMTES
THIEZIZSWBECCEAIAONE T, F/-L/"—Df
W\BIX7°30 & UfZI80° ATHFELAMBICEY P52

LAY

EHTEET, PBL/N—DFEKETHEAZRRE)
O AEEE —20C ~+90C e Ambient temperature —20°C to +90°C
QL E 95%RHIATF e Humidty 95% RH Max.
7 ) & e Rating
i AC
EEBIE(V)
Rated Voltage 125 250 ) 500
A" & B % s TEH IE IR B oM T E i’ iy | EhR
Load Res. Ind. Motor Res. Ind. Motor Res. Ind. _Mq_tp_r_
B B W i (A)
Amperage 20 5 7.5 15 10 5 5 3 2
Bk DC
E W IE(V)
Rated Voltage 8 I 4 N _3 0 125 250
B Ty B’ I BB £ Hn 3 R i’ M F ) E G ' R B o
Load Res. Ind. Res. Ind. Res. Ind. Res. Ind. Res. Ind.
B9 B B i (A)
kroeraes 20 15 20 5 10 7 5 3 1.5 |
OREA ERUBRED o Operational data
item == Type | SR22N | SR22S | SR42N | SR42S
BEE THORE P T Trip travel (Max.) 0° | 6730° | 107 | 6730
2 o ® & M D Reset travel (Max.) g 4 8 &
& o ®H & T T Total travel (Min.) 38 35" | 38 35
@B AE R T Recommended travel 13" 7 13 7
#B1ED (kg-cm) Operating torque (Max.) 23 30 38 40




SR22N-SR22S-SR42N-SR42S

O N R U EFE  Outline Dimensions and Mounting
SR22NT AR SR22NTBR SR22NTCR
SR22NTAL SR22NTBL SR22NTCL
SR22STAR SR22sTBR SR22STCR
SR22STAL SR22STBL SR22sTCL
e 60 o AsEES . 82.5 e
P i; ,_-q r = '1.1| 4-$ 55 r._ 60 T tMﬁF'.%?.‘..qtr :2: :
f (¥4 —20UNC. |2DEEP) || . 3.7 19.5,
T4 a ¥ T 7 |
- st P el T bl
. : I ?qi: ‘iﬁ 7
= = _'. ﬁ. ~|
I w
! 1 | 11. ;\\’ i
] L 8 1 ]
s
23.0
le 38.5 4
SR42NT AR SR4A2NTBR SR42NTCR
SR42NTAL SR42NTBL SRA4A2NTCL
SR425TAR SR42STBR SR42STCR
SR42sSTAL SR42STBL SR42sTCL ea
d—MEX | 257 & 14 52-‘.? =il
4—¢6.5 A=¢6.5 (34— T8UNC, (4DEEP) | 36.7 :m.s.|
i & ¥ T JF " T h E‘:T
:{_EI - _,l_r ﬁ | m! ey
= Yok =F= =+ 2.8
& < T 4 ul
7 4
-y [ o 337 i ae P | 9 sy
.- x= |
[ | | | i
' t
|t 2 ¥ L ! ;]
I t | ,|. | oy PFI |3.2
- (NPTI) -_‘2_3 Gg_
7.6 )
E ol ( V34 »FFRF4TLET. Note |. ( ) Shows Unified thread and NPT.
2. ZEHB L A—EF B AT ERLET, 2 . Phantom line shows lever position type B.
i}
O EEORDLE fl1.SR2 2 N T A R l2.SR4 2 S T A L X
NOMENCLATURE EXAMPLET. [1] [ @ B EXAMPLE2. []] @ @ B 6
D] BqE Type L/si—{ijfi Lever position

SR:RFTyTFIaAMM-0—2))—5S
S R : Snap action, Rortaly contact

EliE%¥ Circuit

2 ¥R L FZNO,NC#ER
4 ¥hIr L 122NO, 2NCHE A

#WEE Function

T D LsX—BfT b v THA—
B . Lsx—HffaR b ahs<—{8)
(455%)

B+ Ai%E Mounting

Al R—Z2OB{TILHEARE A . Long for back mounting
B :R—ZANEMFTIHAE B . Wide for back mounting
C:4—ZfiEmn+ 3L TE{T ¢ : Side mounting

L/<—Ei{ffhm Operating direction

T . Top cover side

B : Bottom cover side
(Special)

A
@
5]
6l

2 . lsolated NO, NC Contact
4 ! Isolated 2NO,2NC Contact

2 :WEF 2:Double break
R:IEBEEN AR (by 7THN—HLNRT)
@ PS5~ Travel R:C W (Top view)
N:EEFS~L N ° Normal travel L ssst@En Bzm (Fy 7h—fllLn A1)

L:C CW (Top view)
Y55t Special specification
X IEff3 2, BREX LS AFR
¥ © Side mounting; Unified threads
Threads for conduit; NPT

Sia—FF7xN0 S . Short travel



SR22N

2 [B] & AT
A b 7))L Normal Travel

® #EEX

Construction

D®®

B BEHERL @ 2 [B1 B8 AT

Circuitry: Two - Circuit Double-Break

(1) LA—BER @A R A @
Operating direction for C.W.

Tow-Circuit Double-Break

309987

)

/

s (Parts List)
w5 MaES B & & 1%
No. | Parts No. Description Q'ty

A Cg
o8 0d

NC NO

SR22NTAR
SR22NTBR
SR22NTCR

(2) LA—BEAmAREFET AR
Operating direction for C.C. W.

Ag »
£ o

NO NC

SR22NTAL
SR22NTBL
SR22NTCL

SW 110101
SW 110301
SW 110302
SW 110303
110304
SW 110305
SW 110306
SW 110307
SW 110308
10 | SW 110102
11 | SW 110309
12 | SW 110310
13 | SW 110311
14 | SW 110312
15 | SW 110313
16 | SW 110314
17 | SW 110315
18 | SW 110103
19 | SW 110104
20 | SW 110105
21 | SW 110316
22 | SW 110317
23 | sSW 110318
(6) | SW 112301
(6) | SW 112302

©ONO oA WN =
)
=

Housing Ass'y

Top Cover Insulator
Top Cover Gasket

Top Cover

Bottom Cover Gasket
Bottom Cover A

Lever Shaft

Actuating Link

Internal Lever

Torsion Spring Ass'y
Return Spring

Roller

Roller Guide

Roller Slide Spring
Latch

Latch Spring

Rocker

Contact Block Ass'y
Contact Lever Ass'y
Contact Finger

Contact Support
Contact Spring

End Insulator

Bottom Cover B
Bottom Caver C

Screw with Washer M4
Screw M4
Screw M4
Screw with Washer 4
Screw M4
Plug

Spring Washer

Roll Pin

Roll Pin

E-Ring

0O-Ring

B e e L 4 [ S e e I T I e e R




SR22S

2 [B] & 3

< 3—p b5 Short Travel

36 ﬁEL——

Al

&
seq_oag

cod

Bl gEAEaL - 2 [N
Circuitry: Two - Circuit Double-Break

(1) Lx—BfEs @A BE A
Operating direction for C.W.

A C

OO

3d 0
NC NO

SR225TAR
SR225STBR
SR22STCR

(2) LA—BERR S REFETA R
Operating direction for C.C.W.

Ag C

o8 o
NO NC

SR22STAL
SR22STBL
SR22sSTCL

B+ (Parts List)

dodbe

Two-Circut Double-Break

42

5 BaES ® & B WK 1B
No Parts No. Description Q'ty
1 SW 110101 Housing Ass’y 1
2 SW 110301 Top Cover Insulator 1
3 SW 110302 Top Cover Gasket 1
4 SW 110303 Top Cover 1
b SW 110304 Bottom Cover Gasket 1
6 SW 110305 Bottom Cover A 1
7 SW 110306 Lever Shaft 1
8 SW 110307 Actuating Link 1
9 SW 130301 Internal Lever 1
10 SW 130105 Torsion Spring Ass'y 1
11 SW 130302 Return Spring 1
12 SW 130303 Latch 2
13 SW 110314 Latch Spring 2
14 SW 130102 Rocker 1
15 SW 130304 Floating Lever 1
16 SW 130305 Actuating Link 1
17 SW 130103 Torsion Spring Ass'y 1
18 SW 130306 Retainer 1
19 SW 110103 Contact Block Ass'y 1
20 SW 130104 Contact Lever Ass'y 1
21 SW 110105 Contact Finger 2
22 SW 110316 Contact Support 1
23 SW 110317 Contact Spring 1
24 SW 110318 End Insulator 1
(6) SW 112301 Bottom Cover B 1
(6) SW 112302 Bottom Cover C 1
32 Screw with Washer p4 | 4
33 Screw M4 | 1
34 Screw M4 | 2
35 Screw with Washer M4 | 5
36 Screw M4 | 7
37 Plug 1
38 Spring Washer 3
39 Roll Pin 1
40 Roll Pin 1
41 E-Ring 2

I_42 0O-Ring 1




SR42N

4 (3] B30

A N S AL Normal Travel

w
=

bebd ¢

B pEHEA @ 4 BB T

Circuitry : Four-Circuit Double-Break

(1) Lo—BERR A BRI AR
Operating direction for C.W.

CQEERRR00S

g

By

5

g
2

NO

C GgE

08

NC NO

(2) Lox—BpfEA ML RBEEET AR
Operating direction for C.C.W.

SR42NTAR
SR42NTBR
SR42NTCR

SR42NTBL
SR42NTCL

A Cg G Eg

B Di H Fi

NC NO NG NO
SR42NTAL

AT/ me
® 9p §

~

co

Four-Circuit Double-Break

5 .

N
w2
B D
I
| L,
- 7 l

;8'@ l
&

BmFE(Parts List)

“ne HaES B &R B K bliiks
No Parts No. Description Q'ty
1 SW 150101 Housing Ass’y 1
2 SW 150301 Top Cover Insulator 1
3 SW 150302 Top Cover Gasket 1
4 SW 150303 Top Cover 1
5 SW 150304 Bottom Cover Gasket 1
6 SW 154301 Bottom Cover A 1
7 SW 110306 Lever Shaft 1
8 SW 110307 Actuating Link 1
9 SW 110308 Internal Lever 1
10 SW 150102 Torsion Spring Ass’y 1
11 SW 150306 Return Spring 1
12 SW 110310 Roller 1
13 SW 110311 Roller Guide 1
14 SW 150307 Roller Slide Spring 1
15 SW 110313 Latch 2
16 SW 110314 Latch Spring 2
17 SW 110315 Rocker b |
18 SW 150103 Contact Block Ass'y 1
19 SW 150104 Contact Lever Ass'y 1
20 SW 150309 Contact Lever Shaft 1
(6) SW 152301 Botton Cover B 1
(6) SW 150305 Bottom Cover C 1
33 Screw with Washer M4 10
34 Screw M4 9
35 Plug 1
37 Spring Washer 1
38 Roll Pin 1
39 Roll Pin 1
40 E-Ring 2
41 0-Ring 1
42 Screw with Washer M4 9
43 Screw M4 1
44 Washer 1




SR42S EEESTE;

>a— bt b ZJ Short Travel

w
=~

Ll

boRs e

53

eeagagFenos

ERRAER - 4 33 W
Circuitry : FourCircuit Double-Break

(1) LA—BEARH FREETAR
Operating direction for C.W.

Ag C __i}_i——E
Bg D Hi F
NO  NC NO NC

SR428T AR
SR428TBR
SR428TCR

(2) LA—BMEAMA B AR
Operating direction for C.C.W.

A Cg G Eg

B Di H Fi

NC NO NC NO

SR42ST AL
SR425TBL
SR428TCL

Four-Circuit Double-Break

BamE(Parts List)

e HaEsS B & & 1B
No Parts No. Description Q'ty
1 SW 150101 Housing Ass'y 1
2 SW 150301 Top Cover Insulator 1
3 SW 150302 Top Cover Gasket 1
4 SW 150303 Top Cover 1
5 SW 150304 Bottom Cover Gasket 1
6 SW 154301 Bottom Cover A 1
7 SW 110306 Lever Shaft 1
8 SW 110307 Actuating Link 1
9 SW 130301 Internal Lever 1
10 SW 170101 Torsion Spring Ass’y 1
1 SW 170301 Return Spring 1
12 SW 130303 Latch 2
13 SW 110314 Latch Spring 2
14 SW 130102 Rocker 1
15 SW 130304 Floating Lever il
16 SW 130305 Actuating Link 1
17 SW 170102 Torsion Spring Ass'y 1
18 SW 130306 Retainer 1
19 SW 150103 Contact Block Ass'y 1
20 SW 150104 Contact Lever Ass'y 1
21 SW 170302 Contact Lever Shaft 1
(6) | SW 152301 Bottom Cover B 1
(6) | SW 150305 Bottom Cover C 1
33 Screw with Washer M4 10
34 Screw M4 | g
35 Plug 1
37 Spring Washer 1
38 Roll Pin 1
39 Roll Pin 1
40 E-Ring 2
4 0O-Ring 1
42 Screw with Washer M4 9
43 Screw M4 1
44 Washer 1




OLA—DOFIKETiE Type and size of levers

: : L—OREL] O—5—91 F¥Ai— | @EFOWFEFRFEIE, FET i (nm) D
n_.a._z a.y 'Jl’ ;\‘_ —p— I A& S = - 5
Roller straddle Lever length L Roller side support ;?,..,MT%R@L&L « > Tl
¥ ik Form H (38|51 |64|76| H 74 AR Form °
Olss The values of size in the table are
rounded of actual values in mm.
Al e 2. O/ —DITEXIIRDERFET
¢d D{O 45 EHETRT & W,
— 44 0|0 H How to order levers: Indicate as follows
= o|o|o|a
J H olo|o| s A =R e
([E : 8 Example: (1) @ @
Al O|0|0|O|35 (1) vss—&L  Leverlenght L
3210|0010 i (2) o—FExH Roller}&jghtH ”
d — 5% Roll iameter
ololololzs ¢ | (3}___r:r j?fig&d _? er di ;
B ik N—o—F7Ed(219mmic 7 -
25|0|0|0|0 . ; i : IH TwiT,
olo|o|o|22 - E 8 L 7 $— e 64mm & T6mma) L /< — |2 (3
L—~ o — Z7#22mm$ L U25mm 0 — T 4 B
BOOICO ., sz T,
O|O|0|0O]1I8 Standard roller diameter is 19mm.
A2 N 3lolololo B3 Roller diameters of 22mm and 25mm
¢d are available for lever lengths of 64mm
1 PN C(O10{0] 10} and 76mm.
:|” \I—-'— H QGOOOO :'.E:; !
o F'_J'—V—% T H #&B~t% Dimensions
= U 510/1% ' | } 52+ 5 F Roller straddl
L O—35A 5wy oller straddle
00 O[O[O|O % l—oa i 48T e
i1 s PR, 0 2
olololo Hm. 48T Serration —'-E'i_r'
Ro6|O|O|O|O B4 i ~ 9
O|O|O|O]|RI0 T
- - T
RI3] [O|O|O = | | .
O|O|O|RI6 L "v_—r I
A3 A3[RI9| |O|O|O ;
gd O|0|0O|r22 de
7 Bs| B5 e
[-r% R25 $d tzl-—2i-3 1 48T —
e | H R29 : : pr=——s] 48T Serration '—;' ;
- ] ] —
L i R32 ] IH
e x
R3S == =l
R38 =
Rat 1 K
AHEOIABEOVTRFEC(EETHIerbN T, '

EIR#PI%HE"E‘“M

T105-0003 BREHGERENIGLTE7EL4S FRMIE/FIEL2 F
TEL : 03-6363-3170 (f4&) FAX:03-6363-3175

BRRT 8 T252-0811 %) | BRI REEE] 7 81

TEL : 0466-45-2111 FAX : 0466-45-3370
KIRERPR T564-0053 XIEATIRETIOABI26-30

TEL : 06-6368-3200 FAX : 06-6368-3201
HLMRERPFR T003-0873 IbEEILTRAENKE3E2-8-1

TEL : 011-871-3385 FAX :011-871-3387
LHEBEXM T459-8001 BMNASEMRERNSI—HI6-1

TEL : 052-625-7780 FAX : 052-625-7785
[EBE%P T733-0003 LERLETHHEX=#EM3-16-4

TEL : 082-237-7377 FAX : 082-237-7370
EMERPR T810-0802 EREIREREMESEPMNPEN2-3 BRI FEIL4RE

TEL : 092-263-8355 FAX : 092-263-3350

BULLETIN E-301B

NIPPGN GEAR CO, LTD.

Head Office:

2F, Keihanshin Toranomon building, 1-7-14, Nishi-Shinbashi,
Minato-ku, Tokyo, 105-0003, Japan

Phone : +81-3-6363-3165 Fax : +81-3-6363-3168

10604 AS





